3650. How many different?
Given a set of n integers a1, a2, …, an, determine the number of distinct sums that can be obtained by summing the elements of all possible non-empty subsets of this set. In other words, find the cardinality of the set of all such sums.

Input. The first line contains an integer n (1 ≤ n ≤ 20). The second line contains n integers a1, a2, …, an (-105 ≤ ai ≤ 105).
Output. Print one number – the cardinality of the set of all possible sums of elements of non-empty subsets.

	Sample input
	Sample output

	3

2 4 6
	6


SOLUTION
dynamic programming - bitmasks
Анализ алгоритма

В
Пример

Рассмотрим все подмножества множества {2, 4, 6} и вычислим суммы их элементов.
Реализация алгоритма

